| VALTAGO BALL VAL

P77 flow Technologies
N WS

A Precision Castparts Corporation Company

I'I’II

17

Features

@ Encapsulated bolting

@ Wide range of connections, seals and accessories
@ Solid ball

® DN 8—-50/ " — 2" max. PN 50 / 725 psi

! I !nl_u 15

=) Content|

\Naltaco

Benefits

@ Suitable for difficult applications
@ Suitable for various useages

@ Excellent flow characteristics

@ Temperature: possible to 350°C

'\\':

'\-r

03-017-0003 e Valtaco



P77 flow Technologies >
Jg W

LTACO BALL VALVE 171 - e sore

|]vA
vr

1 Body | M |
2 Stem } ‘
3 Stem Seal CQ i ® ®
4 Thrust Washer =1 het ! im
5  Stem Seal Follower 5 - IEYJUR
6  Plate Spring o — )
7 Hex. Nut - 3 I ’ “ NN
8  Lock Cap O
9 Handle B 7 i W S -t -
10 Bal N4 k /
11 Seat BOG | HSSR ~
12 Body Seal R
13 Screwed End E
14 Butt Weld End @/ y BB BB
15 Socket Weld End A \®
16 Body Bolt
17 Body Nut
18  Stud
13 15
T 1 T -
SE - T 3 = — 4+
=/ [ L g
L
P DN 15 20 25 32 40 50
SIZET 1 3 1" TR/ SA o
] BW | 158 21 %6 351 41 525
Y Sw 22 275 345 43 49 615
S 0 10 12 17 23 30 35
tem A 66 76 9 105 115 130
B 36 42 56 60 71 76
L-Bore c 4 44 58 63 74 79
D 107 107 145 145 175 175
- E 206 246 317 M3 484 563
~\ F 45 51 62 68 77 87
1 B 16 19 22 25 29 33
Input . H 40 46 57 67 76 86
3 A" J UNF 3/8" 3/8" 7/16" 7/16" 9/16" 9/16"
Pmax. o K 9 12 14 14 16 16
2 L 55 55 75 75 9 9
M 62 71 82 92 99 111
o0 S M6x47 M6x55 M8x65 M8x75 M10x90 M10x100
[N U 36 39 52 57 66 71
Input I kg 0.9 1.2 23 29 3.9 5.4
Pmax.
2

m————— |
i i




P77 flow Technologies >
Jg W

/A e
I i e

LTACO BALL VALVE 171 - rn
II!'IﬂI |‘:i|=l gl I‘!!I‘! ihil |! ||‘ii| il !

i
il Bt

D |
%&R‘ i @
1 1 : xt ié
5 S ol {_ I
o : 2) m |
' \J
BBE— | HASNSEH i <

L-Bore %
|_ Fan 90°
N

= _A
P 90° — 4
Input j" 1 .’_1 b 3 l
J e dE— =7
. Prmax. o Hl g
2 2
Stem
DN 8 10 15 20 25 32 40
SIZE i 3y /4" 3, iR 114" 11/,
BW 9.2 125 15.8 21 26.6 35.1 4
wewoomomome ows ow o
® quapsulated bolting . A 66 66 76 90 105 115 130
@ Wide range of connections, seals B 16 36 0 55 60 =1 =
and accessories c M1 M 44 58 63 74 79
@ Solid ball D 107 107 107 145 145 175 175
E 20.6 20.6 24.6 31.7 0.3 48.4 56.3
F 45 45 51 62 68 77 87
G 16 16 19 22 25 29 33
Benefits: H 40 40 46 57 67 76 86
ene. I s. . . . J UNF 3/3" 3/5" 3/8" 7/16" 7/16" 9/16" 9/16"
@ Suitable for difficult applications K 9 9 12 14 14 16 16
@ Suitable for various useages L 55 55 55 75 75 9 9
@ Excellent flow characteristics M 62 62 71 82 92 99 111
@ Possible various T-Bore S M6x47  M6x47  M6x55 M8x65 M8x75 M10x90 M10x100
u 36 36 39 52 57 66 71
kg 0.9 0.9 1.2 2.3 2.9 3.9 5.8

e |
i |




P2 flow Technologies = [l
§g W

_ VALTACO BALLVALVE AL L

PT-Diagram Breakaway torques

Example Example ft.lb.

1007 - - = '\1450
150 ~ 148 32 °F a2 392 2175 [ /
/ I 7
2

100 / i \\ 1450 ’l ’l //

; & g 50 I l / / 725 3

= s [ ARV

50 725 /

. / /1 7 1/
0 V | d 0 Q / i 0
- 100 0 °C 100 200 - o ° 3 3
Nm

Legend These diagrams are for PTFE & glass seats
1 M DN 15 vent. RB/ 10 int. FB / 8 int. FB
2 M DN 20 vent. RB/ 15 int. FB
3 DN 25 vent. RB/ 20 int. FB
4 M DN 32 vent. RB / 25 int. FB
5 H DN 40 vent. RB / 32 int. FB
6 M DN 50 vent. RB/ 40 int. FB
7 M Steam

Materials
S 744 7B
[ Body A105N AISI316
7277 stem AISI316L
[7877  Stem Seal PTFE-carbon 33%
747 Thrust Washer PTFE-carbon 33%
[57  Stem Seal Follower AISI303
[776 " Plate Spring AISI301
7777 Hex. Nut AISI303
[78 " Lock Cap AISI304
797 Handle CF8M
[0 Ball AISI316
[T Seat PTFE-glass 25%
[127 Body Seal PTFE-glass 25%
137 Screwed End * A105N AISI316L
[147 Butt Weld End * A105N AISI316L
[457  Socket Weld End * A105N AISI316L
[16 | Body Bolt AISI1034 AISI304
_ 477 Body Nut AISI1034 AISI304
18 stud AISI1034 AISI304
* Serie 17i66 DN 20 vent./ 15 int. / 15 vent. / 10 int. / 8 int CF3M

oW R P
= i




